Answer Paper TEC C

Q No. | Option Answer Q No. | Option Answer

1 (B) Two 61 (©) Roorkee

2 (A) 97 62 (D) Gujarat

3 (A) R is second to the left of T 63 (©) Buddhists

4 (©) Lokita 64 (D) Sardar Vallabhbhai Patel

5 (A) 9 65 (A) Bhadrabahu

6 A |6 66 (A) | 6™ August 1945

7 (©) 44 67 (A) Luni

8 (C) | EDRIRL 68 (B) | 22™ April

9 (A) ISS 69 (A) 34

10 (©) 1395 70 (D) 700

11 (©) (X+3)(X+3) 71 (©) 5km

12 B) |20m 72 (B) | None of these

13 (B) 50.5 73 (©) 9

14 (B) 7 74 (D) IHGE

15 (B) 6 75 (©) Raju

16 (B) 60 km/h 76 ©) Height

17 (A) 52, 64,96 77 (D) Spring

18 (©) 0 78 (©) 24 min

19 (D) 200 79 (A) ‘/'/o

20 (©) Light Music 80 (B) Strings

21 (B) Classical — 100, Semi 81 (D) | Voter

classical-200, Folk —300,
Light - 400

22 (B) 4150 82 (B) Marriage

23 (B) 640 83 (B) 3,2,1,4,5

24 (A) 4:3 84 (B) Uttarakhand

25 (A) 28 85 (©) 60 minutes

26 (D) 25 86 (D) | NewDelhi

27 (B) S5kg 87 (A) Rajasthan

28 (D) |AC=CD 88 (A) | Mumbai

29 (D) 2:3 89 (©) Inder Kumar Gujral

30 (A) 180° 90 (B) January28

31 (©) 8 91 (©) 654321

32 (D) Rhombus 92 *

33 (A) 1 93 (A) He is so proud that he will
not beg

34 (D) 12% 94 (D) He was given a reward by the
king

35 A) | 10" 95 (D) | Women like to be flattered by
men

36 (B) 3125832 96 (©) the

37 (A) Octagon 97 (B) No article

38 (B) 20972 98 (B) | No article




39 (A) 30% 99 (B) A narrow escape from danger

40 (B) Niece 100 (©) A miser

41 (B) | Ink 101 (B) | To enrich oneself when
opportunity occurs

42 (©) 4 102 (A) quarrel

43 (D) five 103 (D) The older one

44 (D) Leader 104 (A) mobile

45 (B) 1 105 (D) Became a sensation

46 (D) 1969 106 (D) vigorous

47 (B) Denali 107 (D) | Prohibit

48 (A) Sadbhavana Divas 108 (©) Concave

49 (©) Cricket 109 (A) five day week

50 (©) Singing 110 (C) | If she will be promoted

51 (D) Lala Lajpat Rai 111 (©) If I were him

52 (B) | 3™ March 2017 112 (A) | in examinations

53 (A) Santosh Yadav 113 (B) when

54 (B) Black 114 (D) | while

55 (B) Asia 115 (D) | haven't you

56 (©) Cricket 116 (A) do they

57 A) 20" 117 (C) | Progeny

58 D) |6 118 (D) | Revealed

59 (D) 1913 119 (A) Argument

60 (A) High courts 120 (A) | Accessible

*Full marks will be awarded for this question






